iz VR e L

AN YA ) A UNEILS
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 4 G thik 2:18.83 2:08.59 4:27.42
2 2 e Tl 2:36.42 2:21.21 4:57.63
3 1 RE  FHHAT 2:53.10 2:43.59 5:36.69
DID NOT START [1st RUN] 1
3 e R
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2012-03-11 / IFBDE TR F—3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
AN YYVEN Ve A
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [2nd RUN] 0
2012-03-11 / 1FBD X FAF—1; G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

2L 105% AT PNEILH
NG SR
Cay— T =NNT =4
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 7 Bl MBFE 1:29.61 1:28.82 2:58.43
2 5 963190 /NI BAHRFE A2 1:42.50 1:41.59 3:24.09
3 6 963191 JEE HFH 2SR 1:43.54 1:43.74 3:27.28
4 8 968575 A VA% a— 2:05.27 2:05.10 4:10.37
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
2012-03-11 / IFBDEFRF—3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
- 105% A it
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [2nd RUN] 0
2012-03-11 / 1FBD X FAF—1; G8/ 2
DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

BT 1058 AT PNEILR
NG SR
Vo) — TUE=HNT =S
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E [l B ]
@%%—A— = [ %0] @%%—A— =M (5 50]
RiESH - B - N [%50] AiEH - B - N [Z5]
HiAESR - C - FA FxIv [Z50] HIEHR - C - FA F I [5%%0]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B B 4 I~ 17 S |
1 10 952299 /g fdsh VA ATV 1:25.41 1:23.10 2:48.51
2 11 958425 kMW ik %S C 1:24.84 1:25.45 2:50.29
3 12 950987 mE  URIN SR 1:27.26 1:25.06 2:52.32
4 17 950989 FEF —i» IR 1:29.22 1:30.09 2:59.31
5 16 969600 kT Bt LiFh 1:32.17 1:33.52 3:05.69
6 15 000202 EuJ| 15 — BT A% 1:41.82 1:40.67 3:22.49
7 14 964871 4xEF  mg I 1:49.88 1:51.60 3:41.48
8 9 963193 KjE Fa—H SRR 1:53.04 1:56.69 3:49.73
DID NOT START [1st RUN]
13 959497 FFF EEfR SRRV
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
B 1055 AR
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / 1FBD X FAF—1; G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

A 10584 Kalfiz
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 18 955859 HuFH HA BT 1:14.82 1:15.53 2:30.35
2 23 959169 —HI =< o pogEaseh 1:19.49 1:20.95 2:40.44
3 19 931028 3 FEE 2R 1:20.50 1:21.07 2:41.57
4 21 931026 A = 2SR 1:28.23 1:24.38 2:52.61
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFTED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
20 947434 EHA O RE PSS C
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



105

JEfE AS=] -8
No No K4

22 000201 Ak HEZE

DISQUALIFIED [2nd RUN]

2012-03-11 / 1 FBDOEFEAF—F

0

1AH
groE 4 iy fH

F=870
2KH & ##H v—x
BE R BF ORI RS

G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B A 10551 Kalfiz
NG SR
Vol — T =HNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y H 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - = [Z50] BIER - A - =M [Z50]
HiAESR - B - /N (5 %0] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - A4 FFIV (3 50]
piAGE 42(42) 22— R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
ABE—KN/T 4=y 2R -3.1C / -2.3C ABE—KN/T 4=y 2Kk 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B 4 MR mEORH Héﬁ ]
1 24 916185 f#3k: 13 XKL 1:09.40 1:09.26 2:18.66
2 25 924251 HEH: F /N Rv 1:11.04 1:09.67 2:20.71
3 28 940815 FAJI EBR VLA, 1:14.96 1:14.11 2:29.07
4 27 958426 kH f&A &S C 1:15.67 1:14.12 2:29.79
5 26 947433 Ukt FHb AT IR, 1:18.24 1:15.78 2:34.02
6 31 955858 ‘HIE EBKX AT 1:17.47 1:18.91 2:36.38
7 37 953549 [T EEE — BT A% 1:19.09 1:19.32 2:38.41
8 33 939760 “Z2H  FRYE R 1:21.70 1:19.78 2:41.48
9 38 971293 TR AF — B A% 1:22.08 1:19.93 2:42.01
10 30 959086 1IN HERE 2RV 1:22.18 1:21.17 2:43.35
11 40 953561 [W#E &4 A)07" 79 1:22.65 1:23.17 2:45.82
12 35 947429  HEy HE 7O 1:25.17 1:22.93 2:48.10
13 32 947440 LUIF RO A2 1:27.62 1:25.47 2:53.09
14 39 969598 Hiff A4S} LiFh 1:29.60 1:29.50 2:59.10
15 34 952370 (UM FH 1:31.70 1:29.21 3:00.91
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

BT 101K
\ ~ F=870
JIERE AB=] =N BEE - 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
DID NOT START [1st RUN] 2
29 947435 Xy BERAY B $5SC
36 965426 &7 EN A%
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-03-11 / IFBD X FERF—iF G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



iz VR e L

B H-805% A\ Kalfiz
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 41 870004 jHF: =y T 1:39.88 1:39.00 3:18.88
DID NOT START [1st RUN] 1
42 870003 JMjE  FEIk 2T
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0

2012-03-11 / 1 FBDO X FEAF—

G8/

1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

B AT55% A Kalfiz
NG SR
Cay— T =NNT =4
B T (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - FA F I (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 45 089831 KA BR LiFh 1:27.48 1:25.88 2:53.36
2 43 014223 {HjE pre — B A% 1:4151 1:38.61 3:20.12
DID NOT START [1st RUN] 1
44 118678 A% IERE LiFh
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-03-11 / IFBD X FER X —I G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

BAT05RA Kalfiz
NG SR
Cay— TUE=HNT =S
Hfrtgz RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - FA TRV [Z50] AiE#H - C - FTA TR (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 46 964070 /)1l FEW LiFh 1:21.33  1:19.31 2:40.64
2 4T 044872 IBA  EHRE 7O 1:24.45 1:25.88 2:50.33
3 49 091973 JhE EE TR L 1:27.47 1:26.70 2:54.17
4 50 445162 G =M N 1:27.84 1:26.98 2:54.82
5 51 039164 TR ke — ' A% 1:29.12 1:27.90 2:57.02
6 53 054640 |LH IE#E & AT 1:30.76 1:32.57 3:03.33
7 52 023808 VEEE BEE VA% a— 1:35.16 1:33.12 3:08.28
8 56 072972 JKEF HhdE A/ KDY 1:4530 1:43.69 3:28.99
9 55 014271 f{FiE &KW — A% 1:50.66 1:54.94 3:45.60
DID NOT START [1st RUN] 2
48 078733 TEHE BAEE DENSO
54 910206 THL B R AE
DID NOT FINISH [1st RUN] 0
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
B T05%A
F=870
JIERE AB=] =N BEE 1R 2A&KH & 7
No No K4 Fr B 4 BF [ OBF M KR O
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / IFBD X FERF—i G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

55N Kalfiz
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 57 038063 14/ HHE U ~yL 5 1:19.32 1:16.76 2:36.08
DID NOT START [1st RUN] 1
58 949712 |[LUH EIRF N
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0

2012-03-11 / 1 FBDO X FEAF—

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

A A55R A Kalfiz
NG SR
Cay— TUE=HNT =S
B T (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E [l B ]
ISR - A - = [ %0] BIER - A - =M (5 50]
HiAESR - B - /N (5 %0] HIEH - B - N (5 50]
HiAESR - C - FA TRV [Z50] HIEHR - C - A4 FFIV (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 60 071280 &R T U A 1:23.12 1:19.60 2:42.72
2 59 872629 EM 4T HhD 1:25.64 1:24.29 2:49.93
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

I A-355% A\ Kalfiz
NG SR
Cay— TUE=HNT =S
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [ %0] BIER - A - =M (5 50]
HiAESR - B - /N (5 %0] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - A4 FFIV (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 61 052421 #HE =t V)~ LT 1:13.37 1:12.19 2:25.56
2 63 083632 ZHE HET H & 1:14.89 1:15.27 2:30.16
3 62 030406 MR BT AN 1:16.85 1:15.59 2:32.44
4 64 089878 KB AT T 1:18.32 1:18.23 2:36.55
5 65 872762 iTHE FF U~ LT 1:35.00 1:38.25 3:13.25
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2012-03-11 / IFBDE TR F—3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
217355 A%
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [2nd RUN] 0
2012-03-11 / 1FBD X FAF—18; G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

I A-255% A Kalfiz
NG SR
Cay— T =NNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - FA F I (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 68 138793 #¥F EmH MOST 1:22.23 1:22.08 2:44.31
2 67 111565 4@ FEER FOH 1:23.34 1:24.32 2:47.66
3 69 070260 #x HWUHR MOST 1:25.60 1:23.30 2:48.90
DID NOT START [1st RUN] 1
66 903834 )E FlE T R
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
2012-03-11 / IFBD X FERF—I G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
272554
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DISQUALIFIED [2nd RUN] 0
2012-03-11 / 1FBD X FAF—1; G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

A 15584 Kalfiz
NG SR
Cay— T =NNT =4
B T (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [ %0] BIER - A - =M (5 50]
HiAESR - B - /N (5 %0] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - A4 FFIV (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 70 962187 EHF HH + 7 UAK 1:25.74 1:25.92 2:51.66
2 71 910203 &I W AT T 1:27.11 1:26.23 2:53.34
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B 65551\ Kalfiz
NG SR
Cay— T =NNT =4
Hfrtgz RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 72 051699 =% {HfT LiFh 1:17.28 1:16.66 2:33.94
2 73 028186 M === AT 1:16.54 1:17.81 2:34.35
374 096995 EE BT HhU 1:21.15 1:21.42 2:4257
4 75 030947 ‘mIR EIE N 1:28.29 1:27.67 2:55.96
5 77 955866 —ji f# VA% a— 1:37.91 1:40.09 3:18.00
6 78 919925 FEHE  BLHI U ST 1:43.98 1:41.12 3:25.10
779 W il 1:53.15 1:52.32 3:4547
DID NOT START [1st RUN] 1
76 891814 Z& T RAML L =T7RC
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



g7 B R il
B 765K
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / 1FBD X FAF—8; G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B 60551\ Kalfiz
NG SR
Vo) — T =NNT—H
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
ISR - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
piE#E - C - T4 F xR (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) 22— R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
AR—hN/T7 4=y aKIR -3.1C / -2.3C AB—N/T 4=y KR 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B B 4 Mg R M ORI OB
1 82 037833 &/ Him U ~yL 5 1:16.46 1:15.21 2:31.67
2 80 097414 EBI B — ' A% 1:16.39 1:15.69 2:32.08
3 81 024803 #RAE AIHE ¥ F 1:20.18 1:17.24 2:37.42
4 88 089996 K HF ! TR L 1:18.86 1:18.88 2:37.74
5 83 061444 /NESE Bl TA v 1:19.05 1:19.17 2:38.22
6 90 951540 FRy B— — BT A% 1:22.44 1:19.39 2:41.83
7 84 087848 Kk #EFT NEPAE| 1:22.34 1:19.74 2:42.08
8 85 084143 HEIREBIKIKER Al—A 1:22.42 1:21.36 2:43.78
9 89 910215 TVEAF EkE L =TRC 1:2456 1:22.41 2:46.97
10 86 093106 A FEli# LiFh 1:24.00 1:24.21 2:48.21
11 91 108379 HE E= — ' A% 1:29.70 1:26.83 2:56.53
12 87 089328 KM fikHA — BT A% 1:28.90 1:29.26 2:58.16
DID NOT START [1st RUN] 0
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



g7 B R il
B F-605m% 1%
F=870
JIEAL Ad=] =N BEE - 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
DID NOT FINISH [1st RUN]
92 I N
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / I FBDEFEAF—F G8/ 2

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

BB 5551\ Kalfiz
NG SR
Jal)— FU = HNTF—E
Hfrtgz RS (R 2. ] a—R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y H 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = H [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) 22— R TP % 41(41) A K — R 11:45
R Fine =T Hard KA Fine =g Hard
A —hN/T 4= 2 KR -3.1C / -2.3C AB—KN/T 4=y a R 3.7C / 2.1C
F=870
JIERE  A%=} a-h EEEE 1AH 2A4AH A Ft
No No K4 B B 4 1 T I ] Héf i
1 94 039052 L& T N K/ 1:14.82 1:13.08 2:27.90
2 97 118221 #RmE ®HE oY A 1:19.00 1:18.52 2:37.52
3 95 445376 +H IFE DENSO 1:21.08 1:17.08 2:38.16
4 99 094832 ift ®WH BHAR 1:21.85 1:18.68 2:40.53
5 102 932995 K& 5 =7 1:21.22 1:20.01 2:41.23
6 104 872644 = HEH YL YAL 1:22.57 1:20.04 2:42.61
796 111909 R = * F 1:23.34 1:19.88 2:43.22
8 98 087514 Ki& - INERAE 1:21.90 1:21.76 2:43.66
9 103 027312 HH E= W 1:23.87 1:20.60 2:44.47
10 107 101757 [HE i TA 1:23.92 1:21.01 2:44.93
11 106 022282 JNjE i — BT A% 1:26.11 1:24.23 2:50.34
12 101 113883 f&zk [EHE DENSO 1:25.47 1:25.17 2:50.64
13 105 035129 EEAR Foid TR L 1:38.79 1:36.34 3:15.13
DID NOT START [1st RUN]
2012-03-11 / IFBDE TR F—3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

B 755K
F=870
JIERE AB=] =N BEE - 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
93 049405 X FERE BT
100 036349 JRH 5 NERAE!
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-03-11 / IFBD X FERF—iF G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B 50551\ Kalfiz
NG SR
Vol — T =HNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y H 1213m
ks =y o [l 5] R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N (5 %0] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - A4 FFIV (3 50]
piAGE 42(42) 22— R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
AR—hN/T7 4=y aKIR -3.1C / -2.3C AB—N/T 4=y KR 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B 4 I~ 17 S |
1 109 019210 B = Al—A 1:13.26 1:10.18 2:23.44
2 108 100709 M ZiE UL 1:14.66 1:09.73 2:24.39
3 110 016703 B[f ZnH Eo 1:14.31 1:12.00 2:26.31
4 112 073070 HE  fER A~ LT 1:16.62 1:13.15 2:29.77
5 114 115915 RELS  [E#t B e 1:15.79 1:14.28 2:30.07
6 116 126078 [tk =<z Tl 1:17.18 1:14.94 2:32.12
7 115 027734 WEH W IFAN =} 1:19.92 1:16.69 2:36.61
8 113 126428 #E A B hU 1:16.88 1:20.62 2:37.50
9 117 016419 FgtH Jez= N 1:20.88 1:17.99 2:38.87
10 118 445189 #j@ #H— JTEKT 1:22.27 1:19.64 2:41.91
11 119 906257 &4k UK RO 1:23.90 1:24.16 2:48.06
12 122 120002 kM fHE TAT 1:25.01 1:23.60 2:48.61
13 120 964066 MAA Hih TRT 1:29.65 1:30.27 2:59.92
DID NOT START [1st RUN] 3
2012-03-11 / IFBDE TR F—3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



B 7505 1%
F=870
JIERE AB=] =N BEE - 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
111 062233 /M| % * +
123 913903 [UF J4T Doing
124 051905 =& HEf JTEKT
DID NOT FINISH [1st RUN]
121 025339 [HiE T A7 70
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / IFBD X FERF—I G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

BB A 45584 Kalfiz
NG SR
Vol — T =NNT—H
B RS (R 2. ] a— R4
DA KAl 2 — R
g TH AE [l £ A A — IR 1502m
T 4=y 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [ %0] BIER - A - =M (5 50]
HiAESR - B - /N (5 %0] HIEH - B - /N (5 50]
AiE#H - C - FA IV (3 %n] AiE# - C - FTAF RN [%%5n]
piAGE 42(42) A K — R TP % 41(41) 2B — R 11:45
R Fine =T Hard KA Fine =g Hard
AR—hN/T7 4=y aKIR -3.1°C / -2.3C AB—N/T 4=y KR 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B B 4 I~ 17 S |
1 128 077850 FHA FH B AR 1:13.22 1:12.60 2:25.82
2 134 074568 J%H 5 BHAR 1:15.61 1:14.23 2:29.84
3 147 100020 HA  ErfE [NER A 1:17.93 1:12.24 2:30.17
4 131 914801 KB PE— — B A% 1:17.33 1:14.95 2:32.28
5 141 000204 £ fEEE — BT A% 1:16.89 1:15.68 2:32.57
6 129 091497 FBF FEE Al—A 1:17.70 1:16.11 2:33.81
7 132 919921 FHH M2 TEAN =} 1:17.42 1:17.01 2:34.43
8 144 904690 EA f — ' A% 1:18.34 1:17.18 2:35.52
9 135 071508 HEIf [&E W 1:20.13 1:16.86 2:36.99
10 133 096004 A B¢ =7 1:19.64 1:17.38 2:37.02
11 136 066301 R BL3E B A 1:19.95 1:17.90 2:37.85
12 139 142034 A HEKR X720 & 1:20.82 1:18.82 2:39.64
13 137 944588 JIRER N B A 1:21.92 1:19.55 2:41.47
14 138 037974 14EE BT U ~yL T 1:21.90 1:21.96 2:43.86
15 143 123686 #k 7E R N 1:29.67 1:29.97 2:59.64
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



iz VR e L

BT 451X
F=870
JIEAE Ap=} -8 1KH 2AKH & F L—2A
No No K4 BB 4 1R LS 155 I (= i N IV
DID NOT START [1st RUN] 7
125 070855 #xH #H— TAT
126 026047 AR FEF DENSO
130 084529 RJI| E =K B W
142 022735 g (B2 % it
145 060788 /IME N B e
146 079071 “AFH IER B e
148 969322 {RiE  —Mi RN
DID NOT FINISH [1st RUN] 2
127 110102 fHF  Eh B
140 107803 FE %7 JTEKT
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-03-11 / IFBDE TR F— G8/ 2

DATA PROCESSING by SE I KO TIMING by SET KO



iz VR e L

B A 40581 Kalfiz
NG SR
Vol — T =HNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
g TH AE [l £ A A — IR 1502m
T 4=y H 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - = [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - /N (5 50]
AiE#H - C - FA IV (3 %n] AiE# - C - FTAF RN [%%5n]
piAGE 42(42) A K — R TP % 41(41) 2B — R 11:45
R Fine =T Hard KA Fine =g Hard
ABE—KN/T 4=y 2R -3.1C / -2.3C AB—L/T 4=y a R 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1A 24&AH & Gt
No No K4 Fr B 4 BF M EF [ Hif Ei]
1 149 148416 k& 52— U~ LT 1:09.76 1:07.87 2:17.63
2 150 445055 {EH H#H Doing 1:13.53 1:10.38 2:23.91
3 174 110776 A Hom INERAE 1:14.57 1:13.49 2:28.06
4 154 090611 JHEAR =2 wos 1:16.09 1:13.15 2:29.24
5 155 118962  #ht 1EF0 NN 1:15.67 1:13.75 2:29.42
6 153 099391 [MiIE [&WH TRT 1:17.71 1:13.92 2:31.63
7 158 019387 MK EEA R ET A 1:17.10 1:1459 2:31.69
8 188 891797 & TE— HhU 1:17.62 11754 2:35.16
9 166 915663 LUk FnEk BN 1:18.01 1:17.26 2:35.27
10 163 071299 A  Foli JTEKT 1:21.05 1:19.08 2:40.13
11 169 123683 #k EHE — ' A% 1:21.99 1:19.77 2:41.76
12 160 030359 JAff 1EH AN 1:24.62 1:19.62 2:44.24
13 164 108392 HEE 7240 IFAN =} 1:25.66 1:19.69 2:45.35
14 170 057368 SFAR  3H NS 1:24.37 1:24.16 2:48.53
15 168 054575 [LUH BZ5L FH 1:24.85 1:23.92 2:48.77
2012-03-11 / IFBD X FER X —IF G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

B F-405i% 1%
\ ~ F=870
JIERE AB=] =N BEE 1R 2A&KH & 7
No No K4 Fr B 4 BF [ OBF M KR O
16 172 964067 [L57 % TR L 1:27.15 1:26.12 2:53.27
17 171 939589 F4& =7 1:36.27 1:29.28 3:05.55
DID NOT START [1st RUN]
151 016139 #&H ‘Efh U~y
156 891754 +H HBE — A%
159 109883 HA I BHE
161 872650 HALE} ] AWSC
162 101127 M |dsE Al—A
165 944560 J\AK #BE BAEIRE
173 968574 iBrf B VA% a—
DID NOT FINISH [1st RUN]
167 054583 [LUH =A B HA R
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
152 943708  #A)I| bA BE-IN
157 902405  Falp  (afE Doing
DISQUALIFIED [2nd RUN]
2012-03-11 / IFBD X FERF—I G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

BB 35551\ Kalfiz
NG SR
Vol — T =HNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
g TH AE [l £ A A — IR 1502m
T 4=y 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - /N (5 50]
HiAESR - C - FA A [%50] HIEHR - C - A4 FFIV (3 50]
TP %K 42(42) 22— R TP % 41(41) 2B — R 11:45
R Fine =T Hard KA Fine =g Hard
AR—hN/T7 4=y aKIR -3.1C / -2.3C AB—N/T 4=y KR 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B B 4 I~ 17 S |
1 176 015527 # L JE= U ~L5 1:10.27 1:09.10 2:19.37
2 181 146265 MY ER =y7 1:11.35 1:09.84 2:21.19
3 177 014661 {FjE 1E MOST 1:11.17 1:11.08 2:22.25
4 175 028146 g & BT 1:12.10 1:10.50 2:22.60
5 179 914802 Lk B TIRT L 1:13.65 1:12.56 2:26.21
6 180 013811 f{FEE Tkt — AR 1:14.21 1:12.47 2:26.68
7 192 100776 MY HE MOST 1:15.18 1:12.92 2:28.10
8 184 014013 {FE (Bl JTEKT 1:15.49 1:14.53 2:30.02
9 182 089931 K W BooH 1:16.16 1:17.38 2:33.54
10 185 890667 WFHE G — B A% 1:18.85 1:16.01 2:34.86
11 186 870227 {FjE #fifE ¥ F 1:18.64 1:18.06 2:36.70
12 187 951055 AR 18 B hU 1:19.92 1:17.06 2:36.98
13 193 938465 #AJI| fEEEA — B A%— 1:20.58 1:16.54 2:37.12
14 195 872829 T it U~ LT 1:24.05 1:21.82 2:45.87
15 191 938550 fEx Ak EA INERAE 1:31.46 1:29.46 3:00.92
2012-03-11 / IFBD X FER X —IF G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

B 735K
\ ~ F=870
JIEAL Ad=] =N BEE - 1AH 2AH A& 3
No No K4 Fr B 4 BF [ OBF M KR O
DID NOT START [1st RUN]
183 027309 FAH EE B WA K
189 957079 [AEF KER AIl—A
190 024957 <&M 9LHA NERAE!
194 932582  FBp s MOST
DID NOT FINISH [1st RUN]
178 054445 |LH b Ligh
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / 1 FBDOEFEAF—F G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B H-305%1\ Kalfiz
NG SR
Cay— T =NNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - FA F I (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 196 895183 MW #Htik =RV SUN 1:14.44 1:12.96 2:27.40
2 201 929208 j=a B FE R 1:20.32 1:17.89 2:38.21
3 198 900542 JTIE AR — B A% 12154 1:17.65 2:39.19
4 200 902572 & W 1:32.91 1:30.42 3:03.33
DID NOT START [1st RUN]
197 946600 HPO K AR
199 872576 B L {RIRER MOST
202 968790 JLEFAR Hif Al—A
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
2012-03-11 / IFBD X R X —i G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



g7 B R il
B 730K
F=870
[[EV A BN =N BEE 1AH 2KH & i
No No K4 BB 4 S L I = L I = |
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2012-03-11 / 1FBD X FAF—18; G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

BB HA-255% A\ Kalfiz
NG SR
Cay— T =NNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - N [Z5]
HiAESR - C - T4 F xR [Z50] HIEHR - C - FA F I (3 50]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B 4 I~ 17 S |
1 203 445508 14ji 5T U ~L5 1:09.10 1:09.73 2:18.83
2 204 083382 &¥ AH £ F 1:13.43 1:10.93 2:24.36
3 208 913923 KkE il Doing 1:20.24 1:17.25 2:37.49
4 213 969332 HTFH K & E T 1:24.77 1:23.59 2:48.36
DID NOT START [1st RUN] 6
205 935493 HIfE {Eh 2 FH e
206 450013 T Ffnih AWSC
209 950031 EB ik ATl—A
210 965368 WH fEK W
211 969331 £k 2y A
212 872938 JNEE  /Adm MOST
DID NOT FINISH [1st RUN] 1
207 872911 Rk HEE MOST
2012-03-11 / IFBDEFER X —I G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



g7 B R il
5 7-25i%A
F=870
JIERE AB=] =N BEE 1R 2A&KH & 7
No No K4 Fr B 4 BF [ OBF M KR O
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]
2012-03-11 / IFBD X FERF—i G8/ 2

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B A-205%1 Kalfiz
NG SR
Doy — TUE=HNT =S
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 214 910575 JE{% [EH INERAE 1:14.25 1:12.78 2:27.03
2 215 959080 TH Eih I 12410 1:23.02 2:47.12
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
2012-03-11 / IFBDE TR F—3 G8/ 1

DATA PROCESSING by SE I KO

TIMING by SET KO



iz VR e L

B A 15581 Kalfiz
NG SR
Tal— T =T — R
Hfrtgz ST (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y W 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a—RAt X — TH SE [l B ] a—At v H— R E [l B ]
AIEH - A - = [ %0] AiEH - A - = (5 50]
HiAESR - B - /N (5 %0] AiE#H - B - N (5 50]
AiE#H - C - FA TRV (& %n] HIEHR - C - A4 FFIV (%% %n]
piAGE 42(42) A K — R TP % 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERT A4=h =V 1A 240 A& &
No No K4 B B 4 I~ 17 S |
1 216 955857 ‘miE Zzgh AT 1:14.68 1:14.11 2:28.79
DID NOT START [1st RUN] 1
217 949713 B B AKEA B
DID NOT FINISH [1st RUN] 0
DISQUALIFTED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFTED [2nd RUN] 0
2012-03-11 / IFBDE TR F— G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



iz VR e L

=7 Kalfiz
NG SR
Cay— T =NNT =4
B RS (R 2. ] a— R4
DA KAl 2 — R
F5F TH O SE 52N A K — S 1502m
T 4=y a 1213m
ks =y o 5Z=N R 7 289m
AEBRHF— 3 No. SAJ24-GS-50/91
1AH 2 KH
a— Rty H— TH SE [l B ] I— ATy H— R E (R B ]
ISR - A - &= [Z50] BIER - A - =M [Z50]
HiAESR - B - /N [%50] HIEH - B - N (& 50]
HiAESR - C - T4 F xR [Z50] HIEHR - C - FA F I (3 50]
piAGE 42(42) A K — R HEFT %L 41(41) A A — | EE] 11:45
R Fine =T Hard KA Fine =g Hard
2B —K/T 4= 2K -3.1°C / -2.3C 2B —K/T 4=y RkIE 3.7C / 2.1C
F=870
JIERE  A%=} -p BEEE 1AH 2A4AH A Ft
No No K4 B 4 I~ 17 S |
1 218 I EFRE R RL 1:59.28 2:01.49 4:00.77
2 219 MR K ARN,% 2:08.76 2:02.85 4:11.61
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 1
220 B JE AR GATE No. 1, @A @i
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

2012-03-11 / I FBDO X FEAF—

G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



